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22)  y=x* xX*+y*=1 y=>0
intersection points:
x? = 145
2
X*+(x*)? =1 NG
x'+x*-1=0 = Xx=t% _1_2 >
2o —OEO 40D V5 giscard
2(1) 2
a) about x-axis
interval: _1/\/5—1 <x< +,/\£_1
2 2
X +y>=1
y=x y>0
y =v1-x*
r=N1-x)+0 r=(x*)+0
=(1-x%) = (x%)
A =r(1-x*)* A=x(x*)’
:7[(1_)(2) :7Z'(X4) '1 'DB 'I:I

A=A -A=71-xX*)-z(x*)=2(1-x*-x*)
AV = AAX = 7(1—x* = x*)Ax

W=
2

J5-1
2

2

r(@-x>—x) dX=7Z'|:X—%X3—%X5 +C}

section 7.2 Volumes (Washer Method)

Page 6 of 8
2__1+\/g
2
B ~1++/5
2
X=— V5-1 X=+ V5-1
2 2
AX

b 0402

7

02 0.4 06 05 1

~ B-1) 1 [B-1) 1f [B-1] B-1) 1 [B-1) 1 J§—15C
ST Y e 1 B I B 1 S
2 3|\ 2 5|\ 2 3 2 5|\ 2
| Bt {Zg(ﬁ—ljg(ﬁ—lﬂ_ﬁ[ V-1 {2_6—1_(5-2J§+1)}
2 3l 2 ) 5 2 2 3 10
| 5t {26—13—6}_7[[ \/E—lJ{@a/E-sg—sJE}_ﬁ{ @—1}{26—2«/3}%“53
2 3 5 2 J|15 15 15 2 15




MATH 20200

b)

Vz=J.lf5217f(1—y2)dY=7r:y——y3+CT2
[ ]
(-5 =8) {2
V:V1+V2:”[3—4\/§j+ﬁ(3—\/§j: {9 3\/’} (6-2@]}”{15_1;\/5

section 7.2 Volumes (Washer Method) Page 7 of 8
r20
about y-axis —
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36)  For the 3D representation, see the figure in the text. Also, setting the positive x-axis to go down we have
the following cross section diagrams.
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